cdot m W} [1/GeV?

Ratio to ATLAS

=
o
&

T

U oo
T

=
o
o

[EEY

0.5

13000 GeV pp ff
S A I | M2
3
i P2 (ATLAS tibar) 18
=
m  ATLAS :
| --5-- Pythia 6.428 345 I
~ 5 Pythia 6.428 346 1
~  —A— Pythia 6.428 370 e
— Pythia 6.428 default B §
I 04
|z
(90)
<
(40)
<
— O
4™
1
1=
1%
S,
N e
)
c
o
O
[%2]
©
] e
(&)
| | | | | | | | | | 2
:l | I I I [ I I 1 |:
3 42
: .....,_._._...._.—.—..-..-..—.r.r..—.T.T.T.T.T..—..-..-.;I@ :
'_'g__"_"_--_'--'-'--'--'—-'——— 1
} —0.5
| 1 1 1 1 . | . . I I | | l
0 500 1000



	Contents
	Page 1


